Project Name: Ventura Avenue Pedestrian and Bike Lane Improvements Spec. No. RD25-09 Abstract of Bids opened on April 10, 2025

ENGINEER'S ESTIMATE: 1,400,000.00

LOW BIDDER - Granite Construction Company Ventura, CA 93003	1,396,000.00
2nd Bidder - Toro Enterprises, Inc. Oxnard, CA 93012	1,420,835.00
3rd Bidder - Onyx Paving Company, Inc. Anaheim, CA 92806	1,963,000.00
4th Bidder - Non-Responsive V. Lopez Jr. & Sons, Inc. Santa Maria, CA 93456	1,425,453.70

The undersigned certifies that the bids abstracted above were received on behalf of the Board of Supervisors, 'County of Ventura at the time and place designated in the Notice Inviting Bids; were publicly opened and read; and were checked.

Director, Engineering Services Department

Bids opened on April 10, 2025 Project Name: Ventura Avenue Pedestrian and Bike Lane Improvements		s		ENGINEER'S ESTIMATE		LOW BIDDER Granite Construction Company 4820 McGrath Street Suite 101	
						Ventura, CA 93003	3
	Spec. No. RD25-09						
ITEM NO.	ITEM	UNIT	QUANTITY	UNIT PRICE	TOTAL	UNIT PRICE	TOTAL
	Mobilization	LS	1	146,460.00	146,460.00	120,689.00	120,689.00
	Traffic Control & Construction Signing	LS	1	140,000.00	140,000.00	124,000.00	124,000.00
	Water Pollution Control	LS	1	15,000.00	15,000.00	5,500.00	5,500.00
	Roadway Preparation	LS	1	35,000.00	35,000.00	63,000.00	63,000.00
	Tree Removal	EA	4	5,000.00	20,000.00	4,405.00	17,620.00
	Chain Link Fence	LF	236	145.00	34,220.00	105.50	24,898.00
	Drive Gate	EA	1	2,000.00	2,000-00	5,200.50	5,200.50
	Removal of Existing Structures	EA	2	10,000.00	20,000.00	4,500.00	9,000.00
	Crushed Miscellenous Base	TN	150	150.00	22,500.00	145.00	21,750.00
0	PCC Curb and Gutter	LF	1210	40.00	48,400.00	66.50	80,465.00
1	Curb Drain (3" PVC)	EA	2	600.00	1,200.00	2,580.00	5,160.00
2	PCC Sidewalk (4" Thick)	SF	8520	15.00	127,800-00	10.50	89,460.00
3	PCC Driveway Approach (6" Thick-Residential)	SF	750	20.00	15,000.00	39.00	29,250.00
1	PCC Driveway Approach (9" Thick-Commercial)	SF	3780	25.00	94,500.00	42,00	158,760.00
5	PCC Cross Gutter (6' wide)	LF	240	150.00	36,000.00	256.50	61,560.00
6	PCC Curb Ramp Modified Type 111-5, Case E, Type 2	EA	1	2,000.00	2,000.00	5,245.00	5,245.00
7	PCC Curb Ramps Type 111-5, Case D, Type 2	EA	5	3,000.00	15,000.00	5,210.00	26,050.00
3	PCC Curb Ramps Type 111-5, Case A, Type 1	EA	6	6,000.00	36,000.00	5,225.00	31,350.00
9	PCC Curb Ramps Type 111-5, Case D, Type 1 with Bulb Out	EA	3	12,000.00	36,000.00	5,230.00	15,690.00
)	PCC Curb Ramp Type 111-5, Case B, Type 2	EA	1	6,000.00	6,000.00	5,300.00	5,300.00
ſ	Minor Concrete (PCC)	CY	20	1,000.00	20,000.00	2,310.00	46,200.00
2	Reinforced Concrete Pipe (18")	LF	223	450.00	100,350.00	340.00	75,820.00
3	Reinforced Concrete Pipe (24")	LF	6	525.00	3,150,00	1,975.00	11,850-00
1	Storm Drain Manhole	EA	1	20,000.00	20,000.00	29,655.00	29,655.00
5	Curb Opening Catch Basin	EA	1	17,500.00	17,500.00	7,850.00	7,850.00
6	Drop Inlet for Concrete Pipe	EA	1	1,500.00	1,500.00	8,750.00	8,750.00
7	Surface Preparation & Crack Treatment	LS	1	15,000.00	15,000.00	19,550.00	19,550.00
3 =	Mill & Fill	TN	50	350.00	17,500.00	875.00	43,750.00
)	AC Widening (7" Thick)	TN	325	300.00	97,500.00	226.50	73,612.50
)	AC Miscellaneous Paving	TN	200	350.00	70,000.00	257.00	51,400.00
	Type II Emulsion-Aggregate Slurry	SY	11730	4.00	46,920.00	5,50	64,515.00
2	Roadside Mailbox (Single)	EA	5	1,500.00	7,500.00	1,150.00	5,750.00
3	Roadside Mailbox (Cluster)	EA	1	5,000.00	5,000.00	4,850.00	4,850.00
4	Pavement Delineation, Striping & Signing	LS	1	125,000.00	125,000.00	52,500.00	52,500.00
	TOTAL		·	,	1,400,000.00	52,000,00	1,396,000.00

Copies: Director PWA, PM: J. Patricio, C. Stults, M. Hespenheide

ids opened on April 10, 2025		2nd Bidder		3rd Bidder		
		2101 E. Ventura Blv		Onyx Paving Company, Inc. 2890 E. La Cresta Ave.		
		Oxnard, CA 93012		Anaheim, CA 92806		
	Spec. No. RD25-09		T		T1	
TEM NO.	ITEM	UNIT PRICE	TOTAL	UNIT PRICE	TOTAL	
	Mobilization	285,000.00	285,000.00	142,678.20	142,678.20	
	Traffic Control & Construction Signing	124,000.00	124,000.00	323,000.00	323,000.00	
	Water Pollution Control	13,000.00	13,000.00	10,000.00	10,000.00	
	Roadway Preparation	151,000.00	151,000.00	50,000.00	50,000.00	
	Tree Removal	4,200,00	16,800.00	5,500.00	22,000-00	
	Chain Link Fence	80.00	18,880.00	250.00	59,000.00	
	Drive Gate	3,500.00	3,500.00	10,000.00	10,000.00	
	Removal of Existing Structures	1,995.00	3,990.00	10,000.00	20,000.00	
	Crushed Miscellenous Base	68.00	10,200.00	100.00	15,000.00	
)	PCC Curb and Gutter	42.00	50,820.00	115.00	139,150.00	
	Curb Drain (3" PVC)	1,970.00	3,940.00	5,000.00	10,000.00	
	PCC Sidewalk (4" Thick)	10.00	85,200.00	18.00	153,360.00	
	PCC Driveway Approach (6" Thick-Residential)	16.00	12,000.00	28.00	21,000.00	
	PCC Driveway Approach (9" Thick-Commercial)	19.00	71,820.00	33.00	124,740.00	
	PCC Cross Gutter (6' wide)	141.00	33,840.00	200.00	48,000.00	
	PCC Curb Ramp Modified Type 111-5, Case E, Type 2	2,400.00	2,400.00	10,000,00	10,000.00	
	PCC Curb Ramps Type 111-5, Case D, Type 2	2,400.00	12,000.00	10,000.00	50,000.00	
	PCC Curb Ramps Type 111-5, Case A, Type 1	2,400.00	14,400.00	10,000-00	60,000.00	
	PCC Curb Ramps Type 111-5, Case D, Type 1 with Bulb Out	20,000.00	60,000.00	10,000.00	30,000.00	
	PCC Curb Ramp Type 111-5, Case B, Type 2	2,400.00	2,400.00	10,000.00	10,000.00	
	Minor Concrete (PCC)	868.00	17,360.00	2,000.00	40,000.00	
	Reinforced Concrete Pipe (18")	395.00	88,085.00	450.00	100,350.00	
	Reinforced Concrete Pipe (24")	1,130.00	6,780.00	1,100.00	6,600.00	
	Storm Drain Manhole	21,000-00	21,000.00	20,000.00	20,000.00	
	Curb Opening Catch Basin	11,500.00	11,500.00	18,000.00	18,000.00	
	Drop Inlet for Concrete Pipe	8,000.00	8,000.00	24,000.00	24,000.00	
	Surface Preparation & Crack Treatment	22,000.00	22,000.00	35,000.00	35,000.00	
	Mill & Fill	550.00	27,500.00	400.00	20,000.00	
	AC Widening (7" Thick)	195.00	63,375,00	400.00	130,000.00	
	AC Miscellaneous Paving	195.00	39,000.00	400.00	80,000.00	
	Type II Emulsion-Aggregate Slurry	6.50	76,245.00	6.66	78,121.80	
	Roadside Mailbox (Single)	1.800.00	9.000.00	2,000:00	10,000.00	
	Roadside Mailbox (Cluster)	4,800.00	4,800.00	5,000.00	5,000.00	
	Pavement Delineation, Striping & Signing	51,000.00	51,000.00	88,000.00	88,000.00	
-	TOTAL	01,000.00	1,420,835.00	00,000.00	1,963,000.00	

from unit price M=Modified b bidder

Copies: Director PWA, PM: J. Patricio, C. Stults, M. Hespenheide

Bids opened on April 10, 2025		4th Bidder	Non-Responsive	5th Bidder	
rojec	t Name: Ventura Avenue Pedestrian and Bike Lane Improvements		ons, Inc.		
		P.O. Box 488			
		Santa Maria, CA			
	Spec. No. RD25-09	Bid Bond not re	eceived		
TEM NO.	ITEM	UNIT PRICE	TOTAL	UNIT PRICE	TOTAL
	Mobilization	62,010.00	62,010.00		
	Traffic Control & Construction Signing	111,735.00	111,735.00		12.
	Water Pollution Control	7,605.00	7,605.00		0.00
	Roadway Preparation	136,363.00	136,363.00		
	Tree Removal	3,100.00	12,400.00		(€)
	Chain Link Fence	52.65	12,425,40		
	Drive Gate	3,276.00	3,276.00		9.00
	Removal of Existing Structures	3,000.00	6,000.00		19
	Crushed Miscellenous Base	100.00	15,000.00		(€)
	PCC Curb and Gutter	82.00	99,220.00		727
	Curb Drain (3" PVC)	750.00	1,500.00		(6)
	PCC Sidewalk (4" Thick)	20.00	170,400.00		9
	PCC Driveway Approach (6" Thick-Residential)	41.00	30,750.00		
	PCC Driveway Approach (9" Thick-Commercial)	28.00	105,840.00		-
	PCC Cross Gutter (6' wide)	246.00	59,040.00		3.00
	PCC Curb Ramp Modified Type 111-5, Case E, Type 2	4,680.00	4,680.00		
	PCC Curb Ramps Type 111-5, Case D, Type 2	4,680.00	23,400.00		**
	PCC Curb Ramps Type 111-5, Case A, Type 1	5,850.00	35,100.00		(14)
	PCC Curb Ramps Type 111-5, Case D, Type 1 with Bulb Out	8,775.00	26,325.00		-
	PCC Curb Ramp Type 111-5, Case B, Type 2	5,850.00	5,850.00		5 3 3
	Minor Concrete (PCC)	750.00	15,000.00		
	Reinforced Concrete Pipe (18")	380.00	84,740.00		
	Reinforced Concrete Pipe (24")	690.00	4,140.00		
	Storm Drain Manhole	19,146.00	19,146.00		
	Curb Opening Catch Basin	7,500.00	7,500.00		
	Drop Inlet for Concrete Pipe	7,500.00	7,500.00		**
	Surface Preparation & Crack Treatment	23,129.00	23,129.00		-
	Mill & Fill	670.50	33,525.00		
	AC Widening (7" Thick)	270.00	87,750.00		120
	AC Miscellaneous Paving	327.00	65,400.00		390
	Type II Emulsion-Aggregate Slurry	5.41	63,459.30		141
	Roadside Mailbox (Single)	750.00	3,750.00		
	Roadside Mailbox (Cluster)	4,500.00	4,500.00		(4)
	Pavement Delineation, Striping & Signing	76,995.00	76,995.00		170
	TOTAL	,	1,425,453.70		0.00

Copies: Director PWA, PM: J. Patricio, C. Stults, M. Hespenheide

Spec. No. RD25-09 Project No. 50574

LIST OF SUBCONTRACTORS

CONTRACTOR NAME:	Granite Construction Company

Listing shall comply with the provisions of California Public Contract Code, Section 4104.

Name of Subcontractor	Contractor's License Number	Contractor's DIR Registration Number	Business Address	Items of Work
Interstate Striping & Signs	838618	1000007948	1200 Lawrence Dr., Suite 340 Newbury Park CA 91320	Striping & Signs 27P, 34
Union Pavement Services	1131864	2000008321	2904 Rubidoux Blvd. Ste. A Jurupa Valley, CA 92509	Slurry Seal 31
Total Barricade Service	826823	1000007525	701 E. Ventura Blvd. Oxnard, CA 93036	Flagging 2P
ACE Fence Company	996577	1000004092	727 North Glendora Avenue La Puente	Fencing 6,7
V&E Tree Service	654506	1000001936	2425 N Batavia St Orange CA 92865	Tree Removal 5

If more space is needed, add additional pages.

Public Contract Code Section 4104 provides that bidders must list:

- (a)(1) The name, the location of the place of business, and the California contractor license number of each subcontractor who will perform work or labor or render service to the prime contractor in or about the construction of the work or improvement, or a subcontractor licensed by the State of California who, under subcontract to the prime contractor, specially fabricates and installs a portion of the work or improvement according to detailed drawings contained in the plans and specifications, in an amount in excess of one-half of 1 percent of the prime contractor's total bid or, in the case of bids or offers for the construction of streets or highways, including bridges, in excess of one-half of 1 percent of the prime contractor's total bid or ten thousand dollars (\$10,000), whichever is greater.
- (b) The portion of the work that will be done by each subcontractor under this act. The prime contractor shall list only one subcontractor for each portion as is defined by the prime contractor in his or her bid.

LIST OF SUBCONTRACTORS

CONTRACTOR NAME: TORO ENTERPRISES, INC.

Listing shall comply with the provisions of California Public Contract Code, Section 4104.

Name of Subcontractor	Contractor's License Number	Contractor's DIR Registration Number	Business Address	Items of Work
MD RUBBERIZED CRACKFILL	986686	1000006438	32 RANCHO CIRCLE, LAKE FOREST, CA 92630	27 - CRACK SEALING
UNION PAVEMENT SERVICES INC	1131864	2000008321	928 12TH STREET 700 MODESTO, CA 95354	31 - TYPE II SLURRY
GREENCOAST LANDSCAPES, INC.	1009658	1000062784	P.O. BOX 659 SOMIS, CA 93066	5 - TREE REMOVAL & CLEARING
C & W CONSTRUCTION SPECIALTIES INC	256795	1000007135	2419 PALMA DRIVE VENTURA, CA 93003	6&7 - CHAIN LINK FENCE AND DRIVE GATE

If more space is needed, add additional pages.

Public Contract Code Section 4104 provides that bidders must list:

- (a)(1) The name, the location of the place of business, and the California contractor license number of each subcontractor who will perform work or labor or render service to the prime contractor in or about the construction of the work or improvement, or a subcontractor licensed by the State of California who, under subcontract to the prime contractor, specially fabricates and installs a portion of the work or improvement according to detailed drawings contained in the plans and specifications, in an amount in excess of one-half of 1 percent of the prime contractor's total bid or, in the case of bids or offers for the construction of streets or highways, including bridges, in excess of one-half of 1 percent of the prime contractor's total bid or ten thousand dollars (\$10,000), whichever is greater.
- (b) The portion of the work that will be done by each subcontractor under this act. The prime contractor shall list only one subcontractor for each portion as is defined by the prime contractor in his or her bid.